ELEC 5200-001/6200-001 Computer Architecture and Design 
Spring 2007
Homework 5 Problems
Assigned 3/5/07, due 3/12/07
Problem 1: Multiply 85ten by –15ten using the Booth multiplication algorithm and 8-bit two’s complement representation. Use 16 bits for the product.
Problem 2: Carry out the calculation steps for 4-bit binary division of positive numbers 1000/0101 (i.e., 8/5) using the non-restoring division algorithm.
Problem 3: Interpret the following 32-bit memory word:




0011 1100 0000 0001 0000 0100 0110 0100

as


(a) MIPS instruction.


(b) 2’s complement integer.


(c) ASCII characters.


(d) IEEE 754 floating point number.



















































